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Legend

Host Operating System Name

Host IP Address

Virtual Operating System Name

NAT’ed network connection
128.197.10.75
101.4.x/24 <= 10/100 Mb/s Hub
o o ] | ] ) 4 pOrtS
10'0'4'21%01 3x/24 @’ 10/100 Mb/s Hub
10.0.3.200 COoCoCCooD 4 ports
10.0.2.200
10.0.1.200 10.1.2.x/24 @’ 10/100 Mb/s Hub
o o o ] oo o 4 pOrtS
10.1.1.x/ 24 @’ 10 Mb/s Hub
‘ COoCoCCooD 4 ports
= .
(I @ W AT (7T Csce 7000 Router
— /=== 10 Mb/s Hub
(I @ W AT (7T Csco 7000 Router 4 ports
= Cisco 7000 Router
(TN 8 W A (7T == 10 Mbls Hub
4 ports
= .
(I @ W AT (7T Csco 7000 Router
<] 10 Mb/s Hub
4 ports
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